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v N E c ®
KN/m?* KN/m? kN/m? deg cm/sec | cm/day
Lm 14 5 21,000 100 15 1107
Mg 18 49 39,000 0 42 21073
Tong 19 50 101 283,000 25 42 2%<102 | 2
Tons 19 50 150 420,000 100 42 5x10 | 1
Hic 19 50 150 100,000 400 10 1=<107°
His 19 50 280 210,000 100 42 3x<10° | 1
a-a
[ ]
o] Lm
<| Tong
<| Tons
O Hic
His
9.0 U 13.0 4
ﬁ—f——f} - — FH— - — -

180KN/m?

72KN/m? 45<
70m
!
|
| W/ 7/ €
SN T T T L O T 5|
g |
I P
v_3 1 ¥ _ ! 1 1 N

vz ~

/ I \\

/ | \

/ i |

l\ : |
: /

\ I

N
1-
[

1/1,000rad

251




1/

1/1,000rad







